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EDUCATION-HoNOURS

PAPER-EDCA-II

Time Allotted: 4 Hours Full Marks: 100

The figures in the margin indicate full marks.
Candidates should answer in their own words
and adhere to the word limit as practicable.
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~-~
1. Answer any two questions from the following:

M~M~~-~ 'flU~~otl'eg

(a) What is Educational Psychology? Discuss the nature and scope of
Educational Psychology.

~-~CO'I1MI&'31il ~ ? ~ ~CO'I1MI&'31Cil~~ 'e ~ ~ ~IC61ll)ill ~ I

(b) What is meant by Psycho-social Development? Describe Erickson's theory
of Psycho-social Development: What is the educational importance of this
theory?
~CO'It)jt~I~~ mM ~ ~ ~ ? ISlrn~)jCil~ ~CO'II)jt~If@l~M<ptc~ ~ <t~
~11Sl~~1X1'1Jfi1~~fl~?

(c) What is the relation between creativity and intelligence? How to foster
creativity among school children?

~lStilill61~1 'e ~ ~~ ~ ~ ? '¥f ~ ~~ ~ ~lStilill61~I~ ~
~~?
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(d) What is operant conditioning? State the differences between classical and
operant conditioning. Write down the educational significance of Skinner's
theory of learning.

~ ~"lq£~~ ? ~ '6 ~ ~"lqo;£(ji~~~ ~ ~ ~ I ~e:ttc~~ ~
~1it ••t~~~9f(~1

2. Answer any three questions from the following (each within 200 words):

M~f6l~Qf-~ w.rtt ~mlft'eg (~m~oofij~~~)

(a) Distinguish between sensation and perception (any three).

~~'6 ~'Rf~~ ~ ~ (Qf-~~) I

(b) Discuss in brief the first two stages of Piaget' s Cognitive Development.

~ ste:t~61<PmM~ ~~~~~"C1IJIiC9f~~ lft'eI
(c) State the principles of development.

M<ptC~~~~~1

(d) State Gardner's theory of intelligence.

~tvt~tc~~~~~~1

(e) State the relation between learning and maturation.

~ '6 9jrne:t~Ce:t~~~~ I

3. Answer any five questions from the following:

M~f6l~Qf-~ 9fWITI ~mlft'eg

(a) What is the subject matter of Psychology?
(i) Socialization (ii) Perception of form
(iii) Development (iv) Behaviour
~Ce:ttMettCe:t~M'lBI<q'C$~ ?

(i) )jt~tf@t~<p~ct (ii) ~'Rf ~

(iii) mM (iv) ~
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(b) The process of development is
(i) gradual

(iii) fast

M<tSI~~~

(i)~g

(iii) "

(ii) ~1~1<l1~<p

(iv) C<tSIC~I~ern

(ii) continuous

(iv) none of these

(c) Who introduced the theory of Identical element?

(i) Wolf (ii) John Locke
(iii) C.H. Judd (iv) Thorndike

~~~~~~?

(i) Wolf

(iii) C.H. Judd
(ii) John Locke

(iv) Thorndike

(d) The 'Trial and Error' theory of learning was propounded by -

(i) Thorndike (ii) Pavlov

(iii) Skinner (iv) Wertheimer
'~'(3~~~~'~~~_

(i) Thorndike (ii) Pavlov
(iii) Skinner (iv) Wertheimer

(e) Who is the father of Intelligence Test?

(i) Simon (ii) Binet

(iii) Skinner (iv) None of these
~ '6It5\iJP1~~ ~ ?

(i) Simon
(iii) Skinner

(ii) Binet

(iv) None of these

1040 TurnOver3
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(f) Social constructivism gives emphasis on:

(i) Language Development (ii) Deductive Thinking

(Hi) Schema (iv) Motor Development

)!l)11~<tSM~;ql'f ~fl orn~

(i)~~

(iii)~

(c)
I

(d)

(ii) '6I;qC~l~~

(iv) J9't31'1~~4'\;qs~ 5.
(g) Who termed the 'adolescence period' as 'flapper'?

(i) Simon (ii) Binet

(iii) Stanly Hall (iv) Skinner

~~~ 'flapper' ~\5Ifs~~ ;qs~C~~ ?

(i) Simon (ii) Binet

(iii) Stanly Hall (iv) Skinner

(h) ZPD stands for:

ZPD ~ '1f"?fi9f ~~

(a)

(b)

1
(c)

(i) Zone of Proximal Development

(iii) Zone of Personal Development

(ii) Zone of Psychomotor Domain

(iv) Zone of Personality Development

(d)

(e) I

Group-B
~-'4t

4. Answer any two questions from the following:

. M~f61~Ql-~ ~ ~m~~
(a) Explain the philosophical and psychological bases of pedagogy.

C~ lft"1f.l;qs~ )I(;.itt;QealM<tSAA"<l'cf.n ~ I

(b) Briefly discuss the concept of "Teaching as a process". What are the 6+9
different levels of teaching?

15x2 = 30 6.

8+7 (a) ,
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(c) What is meant by 3 R? Write what you know about the teaching and
learning of reading. State any two importance of reading.

3R~~~?~~'(3~~~~~~1 ~
~-~~~fl~~1

(d) Discuss the characteristics and strategies of problem learning.

~~~~~ ~~~1C'11biil~1

5. Answer any three questions from the following (Each within 200 words):

f.I~f6j~~-~ ~ ~mlf1'e~ (~m ~oo1t~~)

(a) What is androgogy?

Androgogy "fr ?

(b) State any two principles of teaching.

fiCl1ficcm~-~~~~~I

(c) State any two characteristics of learning by verbal conditioning.

~~"i<q"Cii'!l~~m-ccm~-~WU~~~1

(d) State the characteristics of learning by discovery.

~IRI$I'!l~~~~~~1

(e) State the characteristics of learning of knowledge construction.

~ Qlii~ii1<Pf.I~(;.i'!l~~~~ I

6. Answer any five questions from the following:

f.I~f6j~~-~ ~ ~mlf1'e~

(a) The Associative Perspective of Pedagogy was stated by-

Pedagogy-a Associative C~~ <pC'!lC~~-

(i) Dewey (ii) Merrill
(iii) Mwanza (iv) Marx
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(b). According to the systems approach, the process of teaching are

~ ~m\Sf't~~1~, ~ ~faf~-
(i) input, print and output (ii) input, process and output
(iii) input, storage and output (iv) none of these

(c) Who is the exponent of memory level of teaching?

~9-\!I~~~~c<P?

(i) Herbert
(iii) Hunt

(d) One aspect of problem solving is -

~~~\!I~~~-

(ii) Morrison

(iv) None ofthese

(i) Divergent thinking (ii) Convergent thinking
(iii) Both (i) and (ii) (iv) None of these

(e) Which level of teaching is considered as thoughtfull teaching?
~'BfCCWf~~9J.'f'~'Bf~~~?

(i) Autonomous (ii) Memory
(iii) Understanding (iv) Reflective

.(f) Pedagogy means:
C9f'iS1~~~~

(i) Science of Behaviour (ii) Science of Learning
(iii) Science of Mind (iv) Science of Teaching

(g) Which is not related to Discovery Learning?
(i) Enactive (ii) Iconic
(iii) Assimilation (iv) Symbolic

~ \;~1~~~'1<p 1i1IlpC~'il~ ~~o:rn?

(i) ~ (ii) ~9f

(iii) ~1'@<P'il9 (iv) ~~
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